
ПРОВЕРОЧНЫЙ ТЕСТ

Номенклатура алканов



1. Выберите правильный ответ

                CH3–CH–CH3                      l               
                     CH2             
                                  l                     CH3
    
     а) 2-этилпропан
     б) 2-метилпропан
     в) 2-метилбутан
     г) 4-метилбутан

0 баллов



2. Выберите правильный ответ

      CH3–CH–CH2–CH–CH2–CH3              l                l
             CH3               CH3

     а) 3,5-диметилгексан
     б) 2,4-диметилгексан
     в) 2,4-метилгексан
     г) 2-метил-4-этилпентан

0 баллов



2.Выберите правильный ответ

      CH3–CH–CH2–CH–CH2–CH3              l                l
             CH3               CH3

     а) 3,5-диметилгексан
     б) 2,4-диметилгексан
     в) 2,4-метилгексан
     г) 2-метил-4-этилпентан

1 балл



3. Выберите правильный ответ

   CH3–CH2–CH–CH–CH2–CH3                     l       l
                    CH3   C2H5

    а) 3-метил-4-этилгексан
    б) 3-этил-4-метилгексан
    в) 3,4-диметилгексан
    г)  3-метилэтилгексан

0 баллов



3. Выберите правильный ответ

   CH3–CH2–CH–CH–CH2–CH3                     l       l
                    CH3   C2H5

    а) 3-метил-4-этилгексан
    б) 3-этил-4-метилгексан
    в) 3,4-диметилгексан
    г)  3-метилэтилгексан

1 балл



3. Выберите правильный ответ

   CH3–CH2–CH–CH–CH2–CH3                     l       l
                    CH3   C2H5

    а) 3-метил-4-этилгексан
    б) 3-этил-4-метилгексан
    в) 3,4-диметилгексан
    г)  3-метилэтилгексан

2 балла



4. Выберите правильный ответ
                                   
                                          CH3                                                                               l 
                 CH3–CH–CH2–C–CH3                          l                l
                         CH2- CH3   CH2-CH2-CH3

        а) 2-метил-2-пропил-4-этилпентан
        б) 2,4-диметил-2-пропилгексан
        в) 3,5,5-триметилоктан
        г)  4,4-диметил-2-этилгептан

0 баллов



4. Выберите правильный ответ
                                   
                                          CH3                                                                               l 
                 CH3–CH–CH2–C–CH3                          l                l
                         CH2- CH3   CH2-CH2-CH3

        а) 2-метил-2-пропил-4-этилпентан
        б) 2,4-диметил-2-пропилгексан
        в) 3,5,5-триметилоктан
        г)  4,4-диметил-2-этилгептан

1 балл



4. Выберите правильный ответ
                                   
                                          CH3                                                                               l 
                 CH3–CH–CH2–C–CH3                          l                l
                         CH2- CH3   CH2-CH2-CH3

        а) 2-метил-2-пропил-4-этилпентан
        б) 2,4-диметил-2-пропилгексан
        в) 3,5,5-триметилоктан
        г)  4,4-диметил-2-этилгептан

2 балла



4. Выберите правильный ответ
                                   
                                          CH3                                                                               l 
                 CH3–CH–CH2–C–CH3                          l                l
                         CH2- CH3   CH2-CH2-CH3

        а) 2-метил-2-пропил-4-этилпентан
        б) 2,4-диметил-2-пропилгексан
        в) 3,5,5-триметилоктан
        г)  4,4-диметил-2-этилгептан

3 балла



5. Выберите правильный ответ

                           CH3             CH2–CH3                     l              
           CH2–CH–CH–CH–CH3            l               l       
           CH3         CH2–CH2-CH3
а) 4-метил-3-пропил-2-этилгексан
б) 4-пропил-3,5-диметилгептан
в) 3,5-метил-4-пропилгептан
г)  3,5-диметил-4-пропилгептан

0 баллов



5. Выберите правильный ответ

                           CH3             CH2–CH3                     l              
           CH2–CH–CH–CH–CH3            l               l       
           CH3         CH2–CH2-CH3
а) 4-метил-3-пропил-2-этилгексан
б) 4-пропил-3,5-диметилгептан
в) 3,5-метил-4-пропилгептан
г)  3,5-диметил-4-пропилгептан

1 балл



5. Выберите правильный ответ

                           CH3             CH2–CH3                     l              
           CH2–CH–CH–CH–CH3            l               l       
           CH3         CH2–CH2-CH3
а) 4-метил-3-пропил-2-этилгексан
б) 4-пропил-3,5-диметилгептан
в) 3,5-метил-4-пропилгептан
г)  3,5-диметил-4-пропилгептан

2 балла



5. Выберите правильный ответ

                           CH3             CH2–CH3                     l              
           CH2–CH–CH–CH–CH3            l               l       
           CH3         CH2–CH2-CH3
а) 4-метил-3-пропил-2-этилгексан
б) 4-пропил-3,5-диметилгептан
в) 3,5-метил-4-пропилгептан
г)  3,5-диметил-4-пропилгептан

3 балла



5. Выберите правильный ответ

                           CH3             CH2–CH3                     l              
           CH2–CH–CH–CH–CH3            l               l       
           CH3         CH2–CH2-CH3
а) 4-метил-3-пропил-2-этилгексан
б) 4-пропил-3,5-диметилгептан
в) 3,5-метил-4-пропилгептан
г)  3,5-диметил-4-пропилгептан

4 балла



За тест ты получил:

5
ОТЛИЧНО!



За тест ты получил:

4
МОЛОДЕЦ!



За тест ты получил:

3



За тест ты получил:

   2


